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CERTIFICATE IN SERICULTURE 
(CIS) 

Term-End Examination 

December, 2014 

BLP-001 : INTRODUCTION TO SERICULTURE 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer any five questions. All questions carry 

equal marks. 

1. Answer the following in one or two sentences :10x1.10 

(a) What is Chawki Rearing ? 

(b) What is Reeling ? 

(c) What should be the pupation rate 
percentage at the time of purchase of seed 
cocoons ? 

(d) What is by-product ? 

(e) What are defective cocoons ? 

(f) What do you mean by multivoltine ? 

(g) What is stifling ? 

(h) What is surface sterilisation ? 

(i) What is parent seed cocoon ? 

(j) What do you mean by indigenous ? 
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2. Fill in the blanks : 	 10x1---40 

(a) Sex separation at cocoon/pupal stage is the 

training need of 	 

(b) Uzi Control Management is the training 

need of 

(c) Spacing is an important activity under 

(d) Sorting of defective cocoon is an activity 

under 	 

(e) Organisations whose nature of work is same 

are called 	 

(f) Plastic conicals used to cover female moths 

for oviposition are called 	 

(g) Process of moth piercing and coming out of 

cocoons is called 	 

(h) Process of egg/pupa going into rest or 

hibernation is called 	 

(i) Disease causing organisms are called 

(j) Eight hours of work done by an average 

adult is called 	  
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3. List out the following : 	 5x2=10 

(a) Different types of silk produced in India. 

(b) Different stages of life cycle of silkworm. 

(c) Steps involved in Loose Egg production. 

(d) States practising Mulberry sericulture. 

(e) Steps to be taken to avoid selfing in grainage 

operations. 

4. Expand the following : 	 10x1.10 

(a) IRDP 

(b) TRYSEM 

(c) NGO 

(d) SGSY 

(e) NABARD 

(f) SHG 

(g) DFLs 

(h) DRDA 

(i) PMRY 

(j) CSB 
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5. Answer the following : 	 5x2=10 

(a) What are the requirements of CRC ? 

(b) What are the visual differences between 
compost and vermi-compost ? 

(c) Who is the main contributor of silkworm 
seed production ? What is the ratio of seed 
cocoons in Multi-Bi-production ? 

(d) What are the equality parameters of silk ? 

(e) What are the advantages of loose eggs ? 

6. 	Match the following : 

A 

10x1=10 

B 

(a) Kisan Nursery (i) Muga 

(b) Weed (ii) Effective Rate of 

Rearing 

(c) Mountages (iii) Opinion of stakeholder 

(d) Cut cocoons (iv) Saplings 

(e) Mulberry fruit (v) Equipment of spinning 

(1) Renditta (vi) Unwanted plant 

(g) Pride of Assam (vii) Defective cocoons 

(h) ERR (viii) By-product 

(i) Feedback (ix) Cocoon required to 

produce one kg of 

Raw silk 

(j) Mal-formed 

cocoons 

(x) Spun silk 
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7. Answer the following 	 4x2 1 _ =10 
2 

(a) What are the nutritive contents of silkworm 
pupa ? 

(b) What is de-flossing ? 

(c) List out the stakeholders involved in silk 
industry. 

(d) What is entrepreneurship development ? 

8. Define the following : 	 5x2=10 

(a) Tenacity 

(b) Throwster's waste 

(c) Bio-control Agents 

(d) Basin Residue 

(e) Cooking 
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